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The figures in the margin indicate full marks
~ for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x5=5
©oTS a1 oA Tew fan

(a) What do you mean by solar radiation?
G RiFea orea & =2

(b) Write the name of any one type of error.
R QI 93 2RI TR A B |

(c) What is the basic function of a sensor?
51 (5] & I R 2

(d) What do you mean by measurements?

CER-TY Jfercat & =12
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(2)

(e) Write the name of the densest region of
atmosphere.

IR HGRSF @R T TR I foa |

2. Answer any five of the following questions :
2x5=10

wore gt R et “fiobt e e foan

(@) Write two uses of compound
microscope.

Ao SR Tg9 101 I o o

(b) Define spectroscopy. What kind of
spectroscopy is useful for studying
protein structure?

CEE PR iz i AR W SRR
PR (TN AFRT COEE A IRI I ?

(c) Write the working principle of a simple
microscope.

g R T FRANSCO! o7 |

(d) What do you mean by sensitivity of a
sensor? To which characteristic the
sensitivity of a digital sensor is closely
related?

oo Ry Jferca & e 2 R s
GBR RGN (IO [ARBE TS AR
T 7
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(e) What is detector? Write two applications
of it.

5353 R 2 TR o1 5T o

(/ What is the basic difference between -
astronomical telescope and terrestrial
telescope?

TSR T SF -8 I 1 147 32

(g) Define thermopause.

o’ oieg et ft |

(h) The absolute error and actual value
for measurement are 5 and 25. Find
the relative error.

95l (WIS [N $51 HF 4FS T F 5 S
25. S o Ry 40

.(i) Why is observation necessary for
measurements? Explain.

(ER-TRS [T R [ o w2 IR
01

() What is bar diagram? Write its type.
welbq 7 TR 2R o |
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3. Answer any four of the following questions :
5x4=20
worq R e w1t R e i -

(@) What is compound microscope? Write
its mathematical formula for magnifica-
tion power. Discuss its application.
1+1+3=5
@ =¥ | B2 im ARG FAOR
afafes FAG fr 1 WR IR A
]

(bp) What is MRI? Explain its working.
principle. 2+3=5

<. 9[. 9%, ¥ 2 TR IRASCH! T 340 |

(c) Describe in detail the different types of
solar radiation. 5

RS oRT A RRERIEE 3t 30

(d) What is telescope? Write the difference
between reflecting and refracting
telescope. Draw a ray diagram of a
refracting telescope. 1+2+2=5

7 33 R 2 afdre uF «fSfRe @l
T 1 o | RS R 77 o) S
foq o 41 |
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(e)

{g)
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(5)

What is a sensor? Draw a block
diagram of a sensor system. Explain
the temperature sensor and proximity
sensor. 1+1+3=5
o 7 &P = BR 7 g =i
TFee| (51 OIF CATHAD oopa M FA 1

The lengths of a rod in five
measurements are found as 102 cm,
10-1 cm, 10 cm, 99 cm and 10-3 cm.
Find the length of the rod. 5
5 I@ (WIS %Y e &N 102 FLRL,
101 ¢iff, 10 @R, 99 @R W&
10-3 GLR. ¢ 1’9 | newER o Bfrea |

What is pie diagram? Draw a pie
diagram to visually display the favourite
fruits of the students in a class based
on the following data : 1+4=5

o foaq 27 9B TR WAL O CIRT FER
oo TR SUPET Rl @bl <X g e
A
Mango—45 nos. of students (&« T¥)
Orange—30 nos. of students (& 2
Plum—15 nos. of students (&9 T9)

Pineapple—30 nos. of students (&9

T9)
Apple—30 nos. of students (& T<)
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(6)

Define the terms (i) mean, (ij) median
and (iij) standard deviation with
formula.

TR IS (i) NG, (i) T vnas (iii) (BaTS
cofeTDaT e faa |

4. Answer any one of the following questions :

word R e bt 2pd T fran

(a)

(b)

A25/254

What is communication system? Draw
a block diagram of communication
system and explain the different

10

components of it. - 1+2+7=10

Qs 9 2 @Ee IRER 7T Pa
el OF 2R RSy ot w3901

() A multimeter measures resistance
of a registor to ‘be 5-3 Q. The actual
value of the resistance is SQ.
Calculate the absolute error,
relative error and percentage error

of the measurement. 1+1+1=3

VPRt @BX @A HR @Y 5-3Q
CIRIR | QIEFOR 4P AR W 5Q
@ @R R §, W 9 wE
I g STl 91 |
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(7))

(i) What do you mean by error in
measurement? What are the main
three types of errors? Explain how
the error in measurement can be
reduced. 1+3+3=7

@IS v I @ @ R
R 39 [ 32 @R-I™e g ARk
FEAF TR AR, R0

() What is earth’s atmosphere? What are
the principal layers of the earth’s
atmosphere? Draw a diagram showing
all the layers and explain them.
1+2+2+5=10

4R IEes 2 {9 WAER T |-
1 B 52 e B3 @R O By e
391 o [fon IR Irm +40 |

(d) Write short notes on any two of the
following : 5x2=10

e e R @R PR e e 5 BRI
for -

(i) Electron microscope
AT TR TFA
(i) CT scan and its application
ol o e TR IR
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(8)

(iii) Detector and its type
RHFT W TN 4F[
(iv) Reflecting telescope

2foFers [T 73
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